AHP (Analytic Hierarchy Process)
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The AHP of relative importance
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Expert Choice — AHP, Manual, Trial
Version BE7.0, 1991.

Cost vs. Visible
Cost “moderately” more important than Visible

Cost vs. Cust.Fit

Cost “moderately” more important than Cust.Fit

Cost vs. Compe ’n
Cost “strongly” more important than Compet’n

Cost
Monthly rental cost pr sq ft

Visible
Visibility of the site location

Cust.Fit
The number of passerby who could be clients)

Compet’n
The number of competitors in the area

( )

Visible vs. Cust.Fit
Visible “equally” as important as Cust.Fit

Visible vs. Compet’n
Visible “strongly” more important than Compet’n

Cust.Fit vs. Compet’n
Cust.Fit “equally” as important as Compet’n




Pairwise Comparison Matrix

Priority(
Cost 0.509
Visible 0.243

Cust.Fit 0.155

Compet’'n 0.094

Cost | Visible | Cust.Fit | Compet'n
Cost 1 3.0 3.0 5.0
Visible 1 1.0 5.0 }
\
Cust.Fit 1 1.0 1
Compet’ 1%
n .
Site( )
Sub.Ctr
Suburban shopping center
The mall
Suburban mall location A
L
Main.St ‘
Main business location \{

Cost

Sub.Ctr prf. The mall
Sub.Ctr prf. Main.St

Main.St prf. The mall
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Cost(

Sub.Ctr 0.578

Priority

Visible

The mall prf. Sub.Ctr

between “moderate” and “strong”

The mall 0.159 \
L
Main.St 0.263 ‘\{
e
Visible
Priority
Sub.Ctr 0.218
The mall 0.691 \
L
Main.St 0.091 ‘\{
54

) \
Sub.Ctr prf. Main.St '
“moderate” 1
The mall pef. Main.St {
between “strong” and “very strong” ?s b
Cust.Fit
Sub.Ctr prf. The mall
between “equal” and “moderate”
\

Sub.Ctr prf. Main.St

“strong”

The mall prf. Main.St

between “moderate” and “strong”




Cust.Fit
Priority

Sub.Ctr 0.570

The mall 0.333

Main.St 0.097

Compet'n

Sub.Ctr prf. The mall

“moderate”

Sub.Ctr prf. Main.St

between “equal” and “moderate”

Main.St prf. The mall

between “equal” and “moderate”

Compet'n
Priority

Sub.Ctr  0.540

The mall 0.163

Main.St 0.297

Select Best Retalil Site

Sub.Ctr 0.486

The mall 0.316

Main.St 0.199




